B N ERE

1. LEA4
TE4 S THEEARSE 1 SHERGSE THE
T4 Mtz B L5k i Ly 7 B B SR — B 2 AR M S
2. TENE
1)  FHEIT4 ) AR BB T L5
2) E I M R - M9 ST E
3) T £ 198 H ¥ H 0 7THE 5H20H
= AFn 74128 3H
4) T EgE

i@ Aokt 5w m



)

HNERE

THEY | S THEEARSE 1 SWHERGEETF

THXSy « TfE - FER A B & & B # a1l ) 7
OB HE R = 64, 541, 504
s T Y 275, 367
B T Y 275,367 |VEMEIET (L) 570 m2
TN = 623,010
AT 2V 623,010 |f#AEy—b 570 m2
WA= L
avy)-MESE T 2V 39, 022, 761
2y - MESEARER T Y 39, 022, 761 |av/))-} 881 m3
21-5-40BB W/C=60% ;
FRATAL R P 170 m2
EIFH60847" ;
T A7 P 320 m2
HHMT
Fot’ V)" 150 m2
fE AT ;
Fot vp” 7 m2
FIikm ;
270l L 336 1L
$36 L1=925;
LZNECIN 512 P
SD345 D25 1.825m/A ;
% 1 T
K T EERAER)
B L = 686, 536
B i - B T 2V 686, 536 | Hit 1l 257 m
WATREE R Vofv /BB FEP 50mm ;
PRFERD 1 =
W MRELH

i@ Aokt 5w m




PR NERE

THEY | S THEEARSE 1 SWHERGEETF

THXSy « TfE - FER A B & & B # ] 7
PR ARk — MR 257 m
W=400 (g &4 20% ;
Fra T Y 11, 012, 600
HEWDFE R A = 11,012,600 |#&EHI (WOE5) 2, 000 m3
=2 ER
b 1 =K
T CEBL- ERIRY &) ;
B sy g 2, 000 m3
THEHERT Y 9, 341, 464
PEHI T Y 394, 350 |#EHI 1, 100 m3
L4
BARE LT Y 2,005,990 |BEIA (5E42) RS+ 2, 300 m3
4. 0mPA F
b 1 =K
T CEBL- ERIRY &) ;
A (b=27) 1 =K
+m +E50, 000m3 KT ;
BRE LT Y 357,840 | RS+ 900 m3
4. 0mPA F
B T Y 202,902 |VEMEIEET (L) 420 m2
AT 2V 459, 060 | fitiAEy—b 420 m2
WA= L
Pkt gD T 2V 90, 163 | 7" L¥vAMEAKME 1 ST
800X 800X 1000 i fH it faditiZm o T ;
IR 8 m
¢ 600 PEHM ;
ST 4 m
N AWEIA7T 4.0 15X50X120cn FEA TR ;
2y - Mi%E T 2V 5,831,159 | F/@ KM% (1A - BE ) 689 m2
RC-40 t=150mm ;
2/ ) - % 689 m2

i@ Aokt 5w m




)

B N ERE

THEY | S THEEARSE 1 SWHERGEETF

THXSy « TfE - FER A B & & B # a1l ) 7
18-8-40BB W/C=<65% t=150mn ;
AR 677 m2
D6-150 X 150 ;
TBRERAR 0.87 t
SD295 D13 ;
H Hik 13 m2
VB RHE R B MR =20 ;
R pk 1 ®
FEE YR T 2V 1 3,579, 766
HEmEE L T Y 1 2,148,780 |av))-MEEMEE L 118 m3
ERpEEY
TR ALER T = 1 1,430, 986 |7 EME 1 =
avy) bk (BkAR)
LSy 118 m3
avy) bk (BkAR)
[ERCAE Xy 2V 1 64, 541, 504
IR = 1 9, 118, 740
B = 1 1,953, 740
7t e =X 1 902, 840 | T ATRIZK T DRt E 1 =K
r-MEHE 1 K
e s H Y 1 404, 900 | /<A r A H A BR 2 1 =
K A b EHIE 1 =K
W/C3-%
BGRENESE (K H) = 1 646, 000
mEER®E (EE L) 7 1 7, 165, 000
i T 2V 1 73, 660, 244

-3 - ESR o3 E < o] 3 ok S




FNER

THEY | S THEEARSE 1 SWHERGEETF

THXSy - TH - fly HOfr ¥ & & fH # bl N g
B Bt v 21, 050, 000
TRl = 94, 710, 244
—fRE R % v 15, 779, 756
T fifik& = 110, 490, 000

i@ Aokt 5w m




